EARAROBEEIERT — 2 N— IBISH —F

2018%7H290 (H) 2EB/M\&2H

N >x2m #5 (ex) Bk

‘ [K1%] /J\Eﬁ‘ [REBE] — | Z (A) 12000 B

[A~&£] 17 :7,000,000  ~ 23 :2,800,000 37 :1,800,000

/473 11,100,000 5 7& :700,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—. MEB= -10. . . . NHEE (ER)
1 4| 7=F>rU— o2 HEs 1(1_0)4 2-2 35.4| 76.0 | 7 (436) e
LIV TTya BiNYa—L L4 5
5 o > B2 | KOEH 1:10.4 1-1 35.5(76.0 | 5 444 | SHEBEGL (RR)
2 3 E—FNEXX 54.0 (NF) (=) |WEFR
LIANRZATNYGT BE—FIN—F1— ¥ vie )
Ty o2 | EPR 1:10.5 3-3 35.3| 75.1 | 1 442 | HBETEE (BR)
3(1]1 T7ANTALIN= 54.0 (1/72) (=) (#%) FUV—=>T7—L
21T " A —F7—FK—K B:ST7I¥Tk BItHFREEMASHIAT RS
Q . 2 | BERS 1:10.6 8-7 35.0| 74.3 | 8 40 |BEIEEA (ER)
41717 | X2 bT1=2 54.0 (3/4) (=) EIEE T
L:27)—>ke—0O— B:FRKFv> NG Y
o s HALLIBATE :10. = . . FHhE_— (EX)
515]5|/¢KH b o2 zu | 1\3_)6 5-3 35.2| 74.1 | 2 (414) it
LXK b7 BiEI74-X Mi2ec]
s . SEIRER :10. — . . EERy (EXR)
6 o | PV K o2 e 1(31/%7 5-7 35.3| 73.1 | 6 (4E8) e
R:Z kAT E—2 By LLET FUFLT7—L
s o2 | JIXESE 1:11.3 3-3 36.1| 67.1 | 4 414 | HKEX (BR)
71818 hLvF—L ASZ% (3 1/2) (—) SHARFET]
LiANTz—GI B:T4ITXAT J=HrTp—L
S Ry # o2 | X8 1:11.5 5-6 36.2| 65.2 | 3 438 | ALHAEA (FF)
sl NTYIY RY—> 54.0 (1 1/4) ) | @ KTL=vry
Z:ANRZATING B:YEY—N 2995 7TF—4A
@ 71 L
) 47.0-35.5
NA>Z4 L | 12.6-10.8-11.5-12.1-11.7-11.7
® I —F—EBIERL
13=3r=
2= =
Gol=5r= 3,4(1,8) (2,5,6)7
40—+ — 3,4(1,5,8)6(2,7)
[ N3
BB 4 1,870 714K 3-4 1,580M B E 3-4 6,350 JEHE 1-3-4 4,480/
BB 4 360 1-4 760M B H 4-3 16,220M 3EE 4-3-1 41,680
3 260 1-3 650F
1 1304

ABICOVWTRDTEEERROODE. TR LIV,




